Algebra 1
Assignment

Find each product.

1) (2b - 3)(6b + 6)

3) (7Ta+ 1)(8a+ 6)

5) (6N +2)(2n —2)

7) (v—5)(8v—4)

9) (8b+8)(8b+1)

11) (4n+2)(2n +5)

13) (5n+ D@2n-1)

15) 3n-3)(2n-7)

17) (2m + 4)(6m + 8)

19) (6x — 4)(x - 2)

21) (M +7)(3m + 5)

23) (Ar+5)3r-7)

Name

ID: 1

Date Period

2) (8N + 8)(8n —4)

4) (Tv-3)(v-1)

6) (4n— 6)(4n + 6)

8) (x—1)(3x+6)

10) 5p-1)(4p-3)

12) (3k - 8)(7k — 4)

14) (5k — 8)(8k — 2)

16) (p-7@8p+8)

18) (4n—3)(4n +2)

20) (4x — 1)(3X +4)

22) (2m - 6)(3m +4)

24) (3n+2)(7n—7)



Algebra 1
Assignment

Find each product.
1) (2b-3)(6b +6)
12b* — 6b — 18

3) (7a+ 1)(8a+6)
56a° +50a+ 6

5) (6n+2)(2n —2)
12n* - 8n —4

7) (v—5)(8v—4)
8v2 — 44v + 20

9) (8b+8)(8b+1)
64b* + 72b + 8

11) (4n+2)2n+5)
8n? +24n+ 10

13) (5n+ 1H2n—1)
10n>-3n-1

15) 3n-3)(2n—"7)
6n> —27n + 21

17) (2m + 4)(6m + 8)
12m? + 40m + 32

19) (6x —4)(x —2)
6x>— 16X+ 8

21) (m+7)(3m+5)
3m? +26m + 35

23) (4r +5)(3r—"7)
12r> — 13r — 35

Name

ID: 1

Date Period

2) (8n+8)(8n—4)
64n% +32n - 32

4) (Iv-3)v-1)
v —10v +3

6) (4n — 6)(4n + 6)
16n% - 36

8) (x—1)(3x+6)

32 +3x-6

10) Sp-DEp-3)
20p*-19p+3

12) (3k — 8)(7k — 4)
21k* — 68k + 32

14) (5k — 8)(8k —2)
40k> — 74k + 16

16) (p—7)(8p+8)
8p? —48p — 56

18) (4n—3)(4n+2)
16n>—4n—-6

20) (4x— D(3x +4)
12> + 13X — 4

22) (2m—6)(3m +4)
6m? — 10m — 24

24) 3n+2)(7n—"17)
2In*-7n-14



Algebra 1
Assignment

Find each product.

1) (7n-3)2n - 4)

3) 3b+6)(3b-28)

5 (4p+7N(7p-2)

7) (7n = 6)(Tn +2)

9) 2a+7)(2a—4)

11) Bp+ DHdp+4)

13) (4r-5)(2r—-4)

15) (7n—-7)3n - 1)

17) 8n+7)(n+ 1)

19) (5x+2)(3x+7)

21) (6X - 7)(X —2)

23) (5n—3)(6n +5)

Name

ID: 2

Date

2) (n—5)6n-1)

4) (n+6)(5n + 6)

6) (7x—5)(x — 1)

8) (8v +2)(4v — 6)

10) (6a - 8)(8a—5)

12) (6n - 8)(7n +3)

14) (6n+3)(7n - 5)

16) (7r — 8)(5r + 5)

18) (7Tp-2)2p-7)

20) (8x+ 1)(8x+5)

22) (6v - 3)(2V - 5)

24) (3m - 5)(5m + 8)

Period



Algebra 1
Assignment

Find each product.
1) (7n—=3)2n—4)
14n? = 34n + 12

3) (3b+6)(3b-8)
9b% — 6b — 48

5) (4p+7)(7p-2)
28p*+41p-14

7) (In—6)(7n +2)
49n% —28n— 12

9) 2a+7)(2a—4)
4a° + 6a — 28

11) Bp+ D(@p+4)
12p*+ 16p +4

13) (4r —5)(2r —4)
8r2 —26r +20

15) (7n—-7)(3n—1)
21n?-28n+7

17) 8n+7)(n+ 1)

8n®+15n+7

19) (5x+2)(3x+7)
15x2 +41x + 14

21) (6x—7)(X—2)
6x> — 19x + 14

23) (5n—3)(6n+ 5)
30n%>+7n-15

Name

ID: 2

Date Period

2) (n=5)6Nn-1)
6n’-3In+5

4) (n+6)(5n + 6)
5n% +36n + 36

6) (7x —35)(x—1)
X2 = 12x+5

8) (8V +2)(4v —6)
32vZ —40v — 12

10) (6a — 8)(8a—5)
48a” — 94a + 40

12) (6n—8)(7n + 3)
42n% —38n - 24

14) (6n+3)(7n—5)
42n*-9n - 15

16) (7r — 8)(5r + 5)
35r> —5r— 40

18) (Tp-2)(2p-T7)
14p? - 53p+ 14

20) (8x+ 1)(8x+5)
64X + 48X + 5

22) (6v—3)(2v -15)
12v? — 36V + 15

24) (3m —5)(5m + 8)
15m? —m — 40



Algebra 1
Assignment

Find each product.

1) (5x—4)4x-17)

3) (8b—5)8b+7)

5) Bx+4)(4x-2)

7) (8X+2)(4x—78)

9) (2n—-2)(7n+6)

11) (7K + 2)(8k + 4)

13) (3X + 4)(4x — 4)

15) (6r + 7)(5r + 5)

17) (4p-H4p +8)

19) (5b-5)(b - 8)

21) @2r+ 1)(r-5)

23) (7x - 8)(5% — 4)

Name

ID: 3

Date

2) (4x—=T)(4x—-4)

4) (8b-8)(2b +2)

6) (X+3)(4x+2)

8) (8x—7)(3x+6)

10) (7a+3)2a+7)

12) (n-3)5n - 1)

14) (4% + 4)(4x - 6)

16) (5k + 1)(k —2)

18) (7n—1)(n+ 1)

20) (7m + 6)(7m + 3)

22) (6r = T)(3r - 4)

24) (8a-5)2a+8)

Period



Algebra 1
Assignment

Find each product.
1) (5x—4)(4x-17)
20x% — 51x + 28

3) (8b—5)(8b+7)
64b* + 16b — 35

5) Bx+4)(4x-2)
12x% + 10x — 8

7) (8X+2)(4x—78)
32x> - 56X — 16

9) (2n—-2)(7n+6)
14n*> —2n - 12

11) (7k +2)(8k + 4)
56k> + 44k + 8

13) (3x + 4)(4x —4)
12X+ 4x — 16

15) (6r + 7)(5r + 5)
30r? + 65r + 35

17) (4p-4)(4p+3)
16p* + 16p — 32

19) (5b—5)(b-8)
5b% — 45b + 40

21) (2r + 1)(r - 5)
2r’-9r-5

23) (7x — 8)(5x — 4)
35%% — 68X + 32

Name

ID: 3

Date Period

2) (4x —7)(4x—4)
16X% — 44x + 28

4) (8b—8)(2b+2)
16b*>-16

6) (X+3)(4x+2)

4% + 14X+ 6

8) (8x—7)(3x+6)
24x% + 27X — 42

10) (7a+3)(2a+7)
14a* + 55a + 21

12) (n-=3)(5n—1)
5n®—16n+3

14) (4x + 4)(4x - 6)
16x%> - 8x — 24

16) (5k + 1)(k —2)
5k* — 9k — 2

18) (7n—1)(n+ 1)

7n%+6n -1

20) (7m + 6)(7m + 3)
49m? + 63m + 18

22) (6r — 7)(3r — 4)
18r% — 45r + 28

24) (8a—5)(2a+8)
16a% + 54a — 40



Algebra 1
Assignment

Find each product.

1) (x=2)(x-3)

3) Bp-2)(6p+3)

5) (5m+4)2m — 1)

7) (5p-8)(7p+8)

9) (3K + 3)(5k - 3)

11) (8x — 7)(x — 1)

13) (X + 6)(5X +7)

15) (3% + 6)(3% - 7)

17) (m—-1)(5m+5)

19) (6n—1)(8n-7)

21) (8n+3)(5n +5)

23) (Tn+5)(5n+2)

Name

ID: 4

Date

2) (3N +7)(@n + 6)

4) (3% +2)(8x —5)

6) (2X +3)(5x —4)

8) (4n — 8)(5n + 6)

10) (7m +7)(3m + 5)

12) (6n - 5)(5n —4)

14) (4b+2)(5b+7)

16) (4r—-"7)(3r-138)

18) (7r—4)(4r—-7)

20) 2n+3)(n—28)

22) (7n+7)(6n + 5)

24) (6 + 1)(8x — 8)

Period



Algebra 1
Assignment

Find each product.
1) (x=2)(x-13)

x> —5X+6

3) Bp-2)(6p+3)
18p*-3p-6

5) (5m+4)2m — 1)

10m?+3m-4

7) (Sp-8)(7p+8)
35p? - 16p — 64

9) (3k +3)(5k — 3)
15k*> + 6k -9

11) (8x—T)(x—1)
8x2—15x+7

13) (X + 6)(5x + 7)
5%% + 37X + 42

15) (3% + 6)(3x —7)
x> —3x—42

17) (m—D(5m+5)
5m?-5

19) (6n—1)(8n—7)
48n% - 50n + 7

21) (8n+3)(5n+5)
40n% + 550 + 15

23) (Tn+5)(5n+2)
35n% +39n + 10

Name

ID: 4

Date Period

2) (3n+7)(4n + 6)
12n% + 46n + 42

4) (3% +2)(8x - 5)
24x% + x - 10

6) (2x +3)(5x —4)
10X+ 7x — 12

8) (4n —8)(5n + 6)
20n% — 16n — 48

10) (7m + 7)(3m + 5)
21m? + 56m + 35

12) (6n—5)(5n—4)
30n% — 49n + 20

14) (4b+2)(5b +7)
20b% +38b + 14

16) (4r —7)(3r —8)
12r% — 53r + 56

18) (7r — 4)(4r —7)
28r% — 65r + 28

20) 2n+3)(n—28)
2n?—13n-24

22) (7n+7)(6n + 5)
42n% +77n + 35

24) (6x + 1)(8x — 8)
48%% — 40x — 8



Algebra 1
Assignment

Find each product.

1) (7v+4)(4v-4)

3) @x+3)2x-7)

5) (4b-3)b-1)

7) (2a+6)(@a->5)

9) (5x+ 8)(7x-15)

11) (6X + 4)(6X + 5)

13) (5x—=3)(7x+8)

15) (6 + 5)(4r + 6)

17) (4m + 1)(8m —2)

19) (3b+8)(7b +2)

21) (3n+3)(7n + 6)

23) (8a-8)(7a-5)

Name

ID: 5

Date

2) 2x+7)(2x—-1)

4) (8x —4)(2X +3)

6) (4n—7)(2n +8)

8) (Tn+6)(7Tn—1)

10) 2n-6)(n - 2)

12) (5n - 4)(4n -2)

14) (x + 8)(X - 3)

16) (6p+7)(6p+2)

18) (3m — 6)(7m — 2)

20) (8a - 1)(3a+ 6)

22) (8n+4)(5n +2)

24) (4n +3)(8n—7)

Period



Algebra 1
Assignment

Find each product.
1) (7v+4)(4v —4)
28v2 - 12v—16

3) (4x+3)2x-7)
8x2 —22x — 21

5) (4b-3)b-1)
4b% - 7b +3

7) (2a+6)(@a->5)
2a’-4a-30

9) (5x+ 8)(7x-15)
352 +31x —40

11) (6% +4)(6X + 5)
36X + 54% + 20

13) (5x—=3)(7x+8)
35%% + 19x — 24

15) (6r + 5)(4r + 6)
24r?% + 56r + 30

17) (4m+ 1)(8m —2)
32m?> -2

19) (3b + 8)(7b +2)
21b% +62b + 16

21) (3n+3)(7n + 6)
21n?+39n + 18

23) (8a—8)(7a-—5)
56a% — 96a + 40

Name

ID: 5

Date Period

2) 2x+7)(2x—-1)
Ax* +12x -7

4) (8x —4)(2x +3)
16X+ 16x — 12

6) (4n—7)(2n +8)
8n +18n— 56

8) (Tn+6)(7Tn—1)
49n° +35n - 6

10) (2n—6)(n—2)
2n? - 10n+ 12

12) (5n—4)(4n—2)
20n% - 26n + 8

14) (x+ 8)(x—3)
X%+ 5x—24

16) (6p +7)(6p +2)
36p? +54p + 14

18) (3m —6)(7m —2)
21m? — 48m + 12

20) (8a— 1)(3a+6)
24a + 45a -6

22) (8n+4)(5n+2)
40n% +36n + 8

24) (4n+3)(8n—"7)
32n%—4n-21



Algebra 1
Assignment

Find each product.

1) (7% — 5)(6X — 8)

3) (x+ 1)(x+06)

5 B3n-7)(n-4)

7) (5v+7)(4v-6)

9) (5r+ 8)(r+3)

11) (4v - 5) (v -7)

13) (8x +3)(3X - 2)

15) (6n +2)(4n—7)

17) Bm—-4)(5m+5)

19) (3n - 6)(n - 5)

21) (b-6)(6b—1)

23) (7x - 1)(8x - 3)

Name

ID: 6

Date

2) (2n-3)(@n +3)

4) (3n+6)(6n - 3)

6) (Tp+3)(7p - 6)

8) (2k —35)(3k + 1)

10) (5m + 3)(7m — 8)

12) (Sp+2)(p+398)

14) (3n - 4)(6n +2)

16) (5% — 3)(4x - 8)

18) (8x+5)(5x—13)

20) Bp—4)(6p-98)

22) (5x+ 1)(7x+3)

24) (5a+ 5)(4a+3)

Period



Algebra 1
Assignment

Find each product.
1) (7x—5)(6x —8)
42x* — 86X + 40

3) (x+ 1)(x+06)

x>+ 7X+ 6

5) (3n—7)(n —4)
3n?—19n + 28

7) (5v+7)(4v—-06)
20V —2v —42

9) (5r+ 8)(r+3)
5r2 +23r + 24

11) @v-5)7v-"17)
28v% — 63V + 35

13) (8x+3)(3x —2)
24x% - 7x -6

15) (6n+2)(4n—"7)
24n% - 34n- 14

17) (3m —4)(5m + 5)
15m? = 5m —20

19) (3n—6)(n—5)
3n?—21n+30

21) (b-6)(6b—1)
6b>-37b +6

23) (7x — 1)(8x —3)
56X%—29x + 3

Name

ID: 6

Date Period

2) (2n - 3)(4n +3)
8n—6n-9

4) (3n+ 6)(6n - 3)
18n%+27n— 18

6) (7Tp+3)(7p—6)
49p* -21p-18

8) (2k — 5)(3k + 1)
6k>— 13k -5

10) (5m + 3)(7m — 8)
35m? — 19m — 24

12) (5p+2)(p+8)
5p*+42p+16

14) (3n —4)(6n +2)
18n%>—18n -8

16) (5x —3)(4x — 8)
20%% — 52X + 24

18) (8x+5)(5x—13)
40x> + x - 15

20) Bp—4)6p-18)
18p% —48p + 32

22) (5x+ 1)(7x+3)
35%% + 22X + 3

24) (5a+ 5)(4a+3)
20a%+35a+ 15



Algebra 1
Assignment

Find each product.

1) (5x+6)(x—2)

3) 3n+7)(3n+4)

5) (3b-2)(4b +5)

7) (8b +3)(6b - 4)

9) (7b-2)(8b - 5)

11) (5% +3)(7X + 5)

13) (2a- 1)@+ 6)

15) 3a—2)2a+ 1)

17) (8r+4)(6r — )

19) (3m + 3)(8m — 4)

21) (n—4)(8n +3)

23) (3v+3)(8v+ 1)

Name

ID: 7

Date

2) (4x+5)(3x-1)

4) (8b-6)(5b-3)

6) (7k - 2)(5k - 3)

8) (4m —5)(6m - 6)

10) (n—7)3n-7)

12) (6b-2)(3b-2)

14) (2b-4)2b+ 1)

16) (4n—2)(n—1)

18) (3k +2)(k + 3)

20) (3m - 6)(4m + 3)

22) (5m+2)2m +7)

24) (6n + 8)(5n + 6)

Period



Algebra 1
Assignment

Find each product.
1) (5x+6)(x—2)
5x% —4x—12

3) 3n+7)(3n+4)
9n? +33n + 28

5) (3b—2)(4b + 5)
12b% +7b — 10

7) (8b+3)(6b—4)
48b% - 14b - 12

9) (7b —2)(8b - 5)
56b% - 51b + 10

11) (5x+3)(7x +5)
35x% + 46X + 15

13) (2a- 1)@+ 6)

2a’+11a-6

15) 3a—2)2a+ 1)

6a’—a-2

17) (8r + 4)(6r —8)
48r% — 40r — 32

19) (3m + 3)(8m —4)
24m? + 12m - 12

21) (n—4)(8n +3)
8n?—-29n—12

23) (3v +3)8V+ 1)
24v? + 27V + 3

Name

ID: 7

Date Period

2) (4x+5)(3x-1)
12x2+11x-5

4) (8b—6)(5b - 3)
40b% — 54b + 18

6) (7k —2)(5k — 3)
35k 31k + 6

8) (4m —5)(6m - 6)
24m? — 54m + 30

10) (n—=7)(3n—"7)
3n%—28n+49

12) (6b-2)(3b—2)
18b%> - 18b + 4

14) 2b-4)(2b+ 1)
4b* - 6b -4

16) (4n—2)(n—1)
4n®—6n+2

18) 3k +2)(k + 5)
3kZ+ 17k + 10

20) (3m — 6)(4m + 3)
12m? - 15m—18

22) (5m+2)(2m+7)
10m? + 39m + 14

24) (6n + 8)(5n + 6)
30n? + 76n + 48



Algebra 1
Assignment

Find each product.

1) (5k - 3)(6k + 3)

3) (2m +4)(4m + 5)

5) 2x+2)2x+1)

7) (4n+5)2n+2)

9) Bm+7)(5m+5)

11) (X +3)(7x + 3)

13) (7n-3)(8n-3)

15) (r—3)(5r - 5)

17) (5x - 5)(2x - 3)

19) (8a-5)2a—-5)

21) (4K + 4)(6k — 7)

23) (4x—1)(7x+4)

Name

Date

2) (22X +4)(3X + 6)

4) (6r —8)(7r—17)

6) (6p-5)3p-1)

8) (5x—6)(7x—6)

10) (5n + 5)(4n + 6)

12) (7n=5)(@3n+7)

14) (5k —2)(6k — 8)

16) (5n—8)@8n+ 1)

18) (m—4)(5m—4)

20) (5x +2)(5x—7)

22) (8x — 8)(6X +7)

24) (7% + 3)(6X - 2)

Period




Algebra 1
Assignment

Find each product.
1) (5k —3)(6k + 3)
30k? =3k -9

3) (2m +4)(4m + 5)
8m? +26m + 20

5) 2x+2)2x+1)

4% + 6X +2

7) (4n+5)2n+2)
8nZ+18n+ 10

9) Bm+7)(5m+5)
15m? + 50m + 35

11) (x +3)(7x + 3)
x> + 24X+ 9

13) (7n-3)(8n—3)
56n%>—45n+9

15) (r —3)(5r - 5)
5r2—20r + 15

17) (5x—5)2x - 3)
10x% = 25x + 15

19) (8a—5)(2a—>5)
16a — 50a + 25

21) (4k + 4)(6k — 7)
24k> — 4k — 28

23) (4x—1)(7x+4)
28x% +9x — 4

Name

ID: 8

Date

2) 2x +4)(3X + 6)
6X> + 24X + 24

4) (6r —8)(7r = 7)
42r% — 98r + 56

6) (6p-53p-1)
18p?—21p+5

8) (5x—6)(7x—6)
35%% — 72X + 36

10) (5n+ 5)(4n + 6)
20n% + 50n + 30

12) (7n=5)(@Bn+7)
21n? + 34n - 35

14) (5k — 2)(6k — 8)
30k — 52k + 16

16) (5n—8)(8n+ 1)
40n% — 59n — 8

18) (m —4)(5m —4)
5m? —24m+ 16

20) (5x +2)(5x—7)
25%x% —25x— 14

22) (8x —8)(6X + 7)
48%% + 8x — 56

24) (7x+3)(6x—2)
42x> +4x -6

Period



Algebra 1
Assignment

Find each product.

1) 4a-3)a+2)

3) An+7)(4n+5)

5) (8k +2)(k—7)

7) (p+5)(p+1)

9) (7m — 3)(8m + 2)

11) 3x+6)(5x+5)

13) (8r—2)@8r-1)

15) (5m +5)2m + 8)

17) (4n+ 1)(6n - 2)

19) (3b - 8)(6b + 8)

21) (4n-7)2n- 1)

23) (2X + 6)(4xX + 8)

Name

ID: 9

Date

2) (2m + 3)

4) (4x—3)(5x—4)

6) (6n+ 6)(6n—1)

8) (b 8)(db+4)

10) (7a-8)(2a +4)

12) 2a+4)(2a+7)

14) (5% + 8)(2x - 5)

16) (x - 6)(X - 2)

18) (m + 6)(8m — 4)

20) (X + 8)(7X +4)

22) 2p-8)(8p—4)

24) (4v - 6)

Period



Algebra 1
Assignment

Find each product.
1) (4a-3)a+2)

43’ +5a -6

3) An+7)(4n+5)
16n2 + 48n + 35

5) (8k + 2)(k — 7)
8k2 — 54k — 14

7) (p+5)(p+1)
p>+6p+5

9) (7m-3)(8m+2)
56m?—10m -6

11) 3x+ 6)(5%x + 5)
15x% +45% + 30

13) (8r—2)@8r—1)
64r> — 24r + 2

15) (5m +5)2m + 8)

10m? + 50m + 40

17) (4n+ 1)(6n —2)
24n%>-2n -2

19) (3b - 8)(6b + 8)
18b2 — 24b — 64

21) (4n—-7)2n—1)
8n®—18n+7

23) (2x + 6)(4x + 8)
8x% + 40X + 48

Name

ID: 9

Date Period

2) (2m + 3)

Aam? + 12m+9

4) (4x—3)(5x—4)
20x2 = 31x+ 12

6) (6n+ 6)(6n—1)
36N +30n -6

8) (b — 8)(4b + 4)
4h% —28b — 32

10) (7a-8)(2a +4)
14a% + 12a - 32

12) a+4)(2a+7)
4a” + 22a + 28

14) (5x + 8)(2x — 5)
10x% — 9x — 40

16) (x - 6)(X - 2)

x> —8x+ 12

18) (m + 6)(8m —4)
8m? + 44m — 24

20) (X + 8)(7x +4)
7x% + 60X + 32

22) 2p-3)@Bp-4)
16p* —72p + 32

24) (4v - 6)°
16v> — 48V + 36



Algebra 1
Assignment

Find each product.

1) (X+8)3Bx+7)

3) (In—1)(Tn-4)

5) (6x+6)(4x—17)

7) 2n+4)(n-3)

9) (6n+4)(3n+3)

11) (8m — 4)(2m + 2)

13) (4n+7)(7n - 3)

15) (3n-5)(8n—7)

17) (4r - 5)(5r - 6)

19) (3n - 6)(2n - 6)

21) (6n—1)(8n—7)

23) (4b +8)(6b - 1)

Name

ID: 10

Date

2) (3a+5)6a+4)

4) (6v+2)8v—1)

6) (2x — 4)(6X — 6)

8) (7x—=3)(5x+17)

10) (2v - 5)(8V + 8)

12) (7% - 6)(X + 5)

14) (8n—-4)(8n+7)

16) (7n - 8)(6n + 6)

18) (8v—4)(6v—1)

20) (7Tp+2)4p+7)

22) (5x +6)(5x—7)

24) (22X + 6)(3X +7)

Period



Algebra 1
Assignment

Find each product.
1) (x+8)(3x+7)
3%+ 31X + 56

3) (7n—1)(7n - 4)
49n% —35n + 4

5) (6x+6)(4x—17)
24x% — 18X — 42

7) 2n+4)(n-3)
2n?-2n-12

9) (6n+4)(3n+3)
18n%+30n + 12

11) (8m — 4)(2m + 2)

16m? +8m—8

13) (4n+7)(7n —=3)
28n% +37n - 21

15) (3n—5)(8n—"7)
24n% - 61n + 35

17) (4r —5)(5r - 6)
20r% — 49r + 30

19) (3n - 6)(2n —6)
6n% —30n + 36

21) (6n—1)(8n—"7)
48n% - 50n + 7

23) (4b +8)(6b — 1)
24b% + 44b — 8

Name

1D: 10

Date

2) (3a+5)6a+4)
18a” + 42a + 20

4) (6V+2)(8v—1)
48v> + 10v -2

6) (2x —4)(6X — 6)
12x% — 36X + 24

8) (7x—=3)(5x+17)
35%% +34x — 21

10) (2v —5)(8v + 8)
16v? — 24v — 40

12) (7x—6)(X + 5)
7x% +29% — 30

14) (8n—4)(8n+7)
64n> + 24n — 28

16) (7n - 8)(6n + 6)
42n% — 6n — 48

18) (8v —4)(6v—1)
48v> —32v + 4

20) (7p+2)(4p+7)
28p? +57p+ 14

22) (5x+6)(5x—7)
25%x% — 5x — 42

28) (2x + 6)3X +7)
6X> + 32X + 42

Period



